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> §%8<-c(97,98,102,103,103,96,98,99,103,105)
> HE<-c(24,26,28,28,29,27.28,30,32,33)

> hg<-data.frame(F5,#&)

> x<-Im(AE~FF, data=hg)

> X

call:
Tm(formula = & ~ 55, data = hg)



Coefficients:
(Intercept) 855
-35.1018 0.6335
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> x<-Im({EE~FS , data=hg)
> summary (x)

call:
Im(formula = & ~ 55, data = hg)

Residuals:
Min 1@ Median 3Q Max
-2.34615 -1.42195 0.02036 1.51131 2.38688

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) -35.1018 20.3488 -1.725 0.1228
55 0.6335 0.2026 3.127 0.0141 *

Signif. codes: 0 ‘¥*¥**’ (0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.” 0.1 * ’ 1

Residual standard error: 1.905 on 8 degrees of freedom
Multiple R-squared: 0.55, Adjusted R-squared: 0.4938
F-statistic: 9.778 on 1 and 8 DF, p-value: 0.01408
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> z<-data.frame(§5=104)
> y<-predict(x,z,interval = "prediction”,level = 0.95)
>y
fit Twr upr
1 30.78054 25.87638 35.68471
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> x<-1m(weight~height,data=women)
> summary (x)

call:
Im(formula = weight ~ height, data = women)

Residuals:
Min 1@ Median 3Q Max
-1.7333 -1.1333 -0.3833 0.7417 3.1167

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) -87.51667 5.93694 -14.74 1.71e-09 *¥¥*
height 3.45000 0.09114 37.85 1.09e-14 %%

Signif. codes: 0 ‘¥*¥*’ (0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 * ' 1

Residual standard error: 1.525 on 13 degrees of freedom
Multiple R-squared: 0.991, Adjusted R-squared: 0.9903
F-statistic: 1433 on 1 and 13 DF, p-value: 1.091le-14
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> plot(women$height,women$weight,xlab = "Height",ylab="weight")
> abline(x)
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